Thursday 2™ April

PE with Joe - https://www.youtuhe.com/user/thehodycouchi

Speed sound session -

The children are very familior with the RWI routines. Play the video for your set and
you will see, they know what to do?

Set 2 - air - https://www.youtube.com/watch?v=QqgniQEpodM

Set 3 - Mrs Thackray and Miss Torrance will see yow soon.
Reading your school hook -

Spend 10 minutes reading youwr school reading hook or share a hook you have at
home with your parent/ carer.

Complete youwr CGP hook page -
Set 2 — Complete the air sheet — See helow
Set 3 - Complete the wr sheet — See helow

Maths

Miss Hodges Maths group -

Play the alien addition game: https://www.arcademics.com/games/alien

Now complete the additions — See bhelow

Mrs Wildey/Mrs Nokes' Maths group -

Play the following game: https://www.topmarks.co.uk/maths-games/5-7-
years/counting

Play numhber bhond to ten game:

https://www.nctm.org/Classroom-Resources/Illuminations/ Interactives/Ten- Frame/




Thursday 2™ April

Speed Sounds Set 2

that's not fair

2. fair, stair, hair, gir, lgir, chair

(- Practise reading ) ™

fair stair

hair air

chair lair
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Speed Sounds Set 3

% L

whirl and twirl

ol y
,
bird, third, whid, twirl, dirt
)

2. girl,

(" Practise reading ) ~N

girl bird third

whirl twirl dirt

burn turn spurt

nurse purse hurt

never better weather

after proper  corner
- LIS )
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Addition to 20 on a 4+1-6)
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